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H & 0l & AF S E A A
015 E £ 3 3 YWEI ALTMYSE ASD ~ HLTAYRE FaD
SN HECAYRE AL
B ARDACAL BHE B
Sl ARDACAE 8K - 22 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
HLTAYESE AED 4,125,532 4,013,506 112,026
X 425,000 425,000 0
o] 633,400 633,400 0
= 55,000 55,000 0
x 75,000 0 75,000
Al 2,937,132 2,900, 106 37,026
AABLEAE BHE el 4,125,292 4,013,266 112,026
X 425,000 425,000 0
J| 633,400 633,400 0
= 55,000 55,000 0
e 75,000 0 75,000
Al 2,936,892 2,899,866 37,026
AARLEANL R - 22 4,125,292 4,013,266 112,026
X 425,000 425,000 0
| 633,400 633,400 0
= 55,000 55,000 0
x 75,000 0 75,000
Al 2,936,892 2,899,866 37,026
A2AZFTAE =F2e 212,424 232,568 A20,144
201 Yer 2 bl 191,341 208, 485 AT, 144
02 B2 2,400 19,544 A7, 144
OSHE 44+E83 2,400 19,544 A7, 144
SEX-EERY] 02 0 2,094 A2,094
OZBMY ST 1,162 * 2,150 2,400 17,450 ~15,050
206 TH 2 bl 21,083 24,083 A3,000
01 T2 bl 21,083 24,083 3,000
OLPRB4ATAE LSAERY 10,480 13,480 £3,000
OUH £ 50 10,0008 * 800 8,000 1,000 A3,000
ARBEZAENS(XS) 607,000 607,000 0
X 425,000 425,000 0
= 55,000 55,000 0
Al 127,000 127,000 0
401 NEHIL 2 ThYI 607,000 607,000 0
X 425,000 425,000 0
= 55,000 55,000 0
Al 127,000 127,000 0
01 A&l 603,204 603, 204 0
OBoS TH22I(2B) ISAHE HSBAL
=1.7kn) 145,000,000 * 141 145,000 164,300 ~19,300
X 102,163 115,761 ~13,598
= 13,221 14,981 A1,760
Al 29,616 33,558 £3,942
OLaE BFI2(TD) ISHLE HSB AL
=2.2kn) 149,000,000 * 141 149,000 133,840 15, 160
X 104,981 94,300 10,681
= 13,586 2,203 1,383
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SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
Al 30,433 27,337 3,006
oU=g F=scl(223) tssdE HESA(L=
1.2km) 103,000,000& * 14 103,000 99, 860 3,140
Xl 72,571 70,358 2,213
=) 9,392 9,105 287
Al 21,037 20,397 640
ODAH &olel(20]) OtS&+E HEBAH(L=
3.6km) 122,165,000& * 14 122,165 109,900 12,265
Xl 86,073 77,433 8,640
=) 11,138 10,021 1,117
Al 24,954 22,446 2,508
ogdd 2L (Ma ME2) AR23 A4
N3 AH(L=1.4km) 84,039,000 =+ 14l 84,039 95,304 A 11,265
Xl 59,212 67,148 AT,936
=) 7,663 8,690 A 1,027
Al 17,164 19,466 A2,302
L2REREAE 22 1,307,032 1,307,032 0
401 Al HIZ 201 I 1,307,032 1,307,032 0
01 A& HI 1,305,000 1,305,000 0
OARETAE KXNEH(UHST)
3,300,000& * 14l 3,300 60,000 A56,700
OARZTAE RAEH(EHE)
160,000,000& * 14 160,000 80,000 80,000
OARZTAE SRXEHI(0IFH)
30,000,000& = 14 30,000 110,000 A 80,000
OLALDSZAE FRANESHI(IHEH)
68,000,000& * 14! 68,000 40,000 28,000
OLAZSZAE FANESH(HLH)
45,000,000 * 14l 45,000 40,000 5,000
OARZTAE RAEHI(22H)
62,000,000 =+ 14l 62,000 60,000 2,000
OARZTAE SXNEHI(ZLHE)
120,000,000& * 14 120,000 60,000 60,000
OARZETAE SRAEBHI(SAEH)
70,000,000 * 14l 70,000 60,000 10,000
OLHIHZTAE RAESH(S01H)
42,000,000& =+ 14l 42,000 60,000 A 18,000
OLHAIFZAE RAEH(SXR)
45,000,000 * 14l 45,000 30,000 15,000
OO0l s2el XNot=IHeg L 0IEAE £X
S A 146,400,000& * 14 146,400 130,000 16,400
OZUH MeH2(ME) DtSdse =52 1
M3 AH(L=0.7km) 72,500,000& * 14l 72,500 80,000 A7,500
O=¢H S (4sE) sy =52 wiH
2 Ak(L=1.5km) 116,000,000& * 14 116,000 160,000 A 44,000
OYIls Disd+S =52 WM B AH(L=1.2km)
114,800,000& * 14 114,800 125,000 A 10,200
A2AZ=EAE A2 265,836 283,666 A 17,830




2N AT AR ALY
I ARDSTAE ENHs 2el
Cel: ARPEEANE KX - B2 CEERED)
SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" HlnE2
401 Al HIZ 201 Y| 196,836 214,666 A 17,830
01 A& HI 196,170 214,000 A 17,830
OALRAZ=ZAIE HB 4,370,000 = 10H 4 4,370 11,000 A 6,630
OL7AL2+EA4 283 FA4
200,000& = 3110 A = 23] 124,400 133,600 A 9,200
OXNAMYZH =S A8 83 L EH
18,000,000 * 14 18,000 20,000 A 2,000
DI JIs(Al)=22 WM 75,000 0 75,000
e 75,000 0 75,000
401 Al HIZ 201 8] 75,000 0 75,000
e 75,000 0 75,000
01 A& HI 74,500 0 74,500
OMNE(A=)2= UHHAS (DI THal12])
74,500,000& 74,500 0 74,500
e 74,500 0 74,500
03 A& S THHI 500 500
OIS (A=)2E UHAIY AIE201H
500,000& 500 500
e 500 500
2o HE(A)32= HHEAE 75,000 0 75,000
401 A& HIZ 201 Y| 75,000 0 75,000
01 A& HI 74,500 0 74,500
OJts(Al=)35 AL (2AHE AF12l)
74,500,000 74,500 0 74,500
03 A& SR THHI 500 0 500
ONE(A=)2E UHAIY AIE20Y
500,000& 500 0 500




